SAP ABAP table TPIO2 {Interest Calculation Profile and Interest Indicator}

TO0O
TPIO2-MANDT = TO00-MANDT
_ - ---"0..N | MANDT [CLNT (3)]

—_

e TO56
.7 MANDT [CLNT (3)]
- -0.]N [yZSKZ [CHAR (2)]

4 -7 TO90R
.- - MANDT [CLNT (3)]
-~ TPI02-PERBSL = TO90R-PERBSL_ ©0-N | PERBSL [CHAR (2)]

- T093

MANDT [CLNT (3)]

1017 T T 0..N ["AFAPL [CHAR (4)]
o AFABER [NUMC (2)]

~

- TO096

MANDT [CLNT (3)]
\ el AFAPL [CHAR (4)]

"\ To - TCURC

~
~

*_ TPI02-ZSCHM = TPI0O1-ZSCHM  ( 3 ANDTICINT G

N

s WAERS [CUKY (5)]

Tt~ TPIO1

0..N | MANDT [CLNT (3)]
ZSCHM [CHAR (7)]




